Solution

number of pixels with graylevel x
total number of pixelsin the region

a) p,(x)C Prob[u = X] »
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b) p,(5=3/8
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C) Py, (X, %,) 0 Prob[u, =x;,u, =X, »

number of pair of pixelsu,=x,, u,=X,
total number of such pairs of pixelsin the region
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d)  Pu,w(d56)=1/9
(there are 9 such pixel pairs out of which only one with
u,=5 and u,=6)
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€)  Second order joint probabilities: 10 2 1 0
911 1 0 0
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Contrast ° é é. (X1' Xz)zpul,u2 (X11X2)

X1 X

=3X° X+ 3x*% =15
or 1% if matrix is normalized
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) Autocorrelation and features from the Fourier domain




